


TERM TWO MID-TERM EXAM 2010
MATHEMATICS FORM ONE

NAME..........................................................................ADM NO...............CLASS.........

1. Find by factorization          1764.					(3mks)








2. Remove the brackets (3 - y) -2(x-y+2)				(2mks)









3. Evaluate 12.12 –   (6.34 + 6.45) – 2.78            			(2mks)








4. Express as fraction in the lowest terms.				(2mks)
289
 51






5. Simplify -7 x 41 + 36 ÷ 9+12 x 12					(2mks)









6. Find its greatest number which when divided by 181 and 236 leaves a remainder of 5 in each case.						(4mks)










7.  Test whether the following number is divisible by both 6 and 8           1290.										(3mks)







8. Round off thirty million, seven hundred and thirty nine thousand, six hundred and nineteen to the nearest 10,000.			(4mks)









9. A businessman had 1860 bags of maize in his store. He sold 425 of them.

a. How many bags were left?						(2mks)





b. If each contained 12 packets, how many packets remained.  (2mks)








10. Express as a product of its prime factors.     900.		(2mks)










11. Three bells ring at intervals of 40min, 45min & 60mins. It they ring        simultaneously at 5.00 am. What time will they next ring together?										(4mks)









12. Indicate on a number line.						(2mks)

+2 + -5 + +4





13. Write in numerals Three hundredths.				(1mk)





14. Arrange in descending order.						(3mks) 

2/3, ¾, 5/6, 7/8, 8/9





15. Simplify           (11/4 – 3/8) ÷31/2 + 15/6 ÷11/4)                                (4mks)










16. Express as fraction 8.45.						(2mks)








17. Convert to a fraction 0.215.						(3mks)








18. Round off 0.04321255 to 1 dp =
     2dp =
     3dp =
     4dp =
19. Use mathematical tables to evaluate

a. 8.2912= 									(3mks)





b.  0.008933 =								(3mks)								




c.   4822 =									(3mks)  






d. √484									(3mks)



e.    √49.863=								(3mks)





f.    √ 0.00392								(3mks)







20. Write in standard form

a.  0.008									(2mks)





b. 2.093									(2mks)





c. 489.2									(2mks)







21.  Factorize 

a. 3p + 3r + 3q + 3r							(2mks)



b. 3bx – 3by + 4ax – 4ay						(4mks)
	           4a + 3b















22. Kimani spent 4/10 of his salary on food. 1/3 of the remainder on electricity and saved 1/2 of what was still left if he saved Kshs. 1,200, how much did he spend in electricity?				(5mks)













23. Evaluate        a2b2		If a = 3,            b = 4.7,          c = 6.4
                           C







24. Simplify

a. -2 x -2 x -3 = 								(2mks)





	b. -6 x -2 - -3								(2mks)
	       -10 - -5





	     
25. State the place value of 4 in 

a. 8400.36									(2mks)




b. What is the total value of 8 in the above number?		(2mks)





c. Insert the missing numbers					(2mks)
		3 =   x =  0.15
		5     15       y
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